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� �U/� W���% nn ��P�� �� �=��.� 	
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� *�=� ������R�� ����� 	$��@ ������� K� K_6 ��P�� )�� 3��
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��� K� �� �% .

������ &(_" �� 
�N�� K_6 �S�
� �� � �
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�� �[�����".

4-3BJ;�"�
e 6

�� A�\(� ?���
���m �$ ?���
� &=�M �� Y=�1� �� �1#4� 9�6 �� &�� ��SM Y=�1� 3���f ?SM��� . 	$�

�� P�� Y=�1� W��x 	�� ?SM *��( ?SM�(�� .�����+ � 	$��% 9�R�� ����SM  �� �� 	
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7Absolute volume 

)Kg(در يك متر مكعب وزن مصالح متراكم نشده 

 =<AY� BJ;
1000 ×وزن مخصوص دانه اي مصالح
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8Particle density
9Bulk density
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 ����+���������" ���8 3��")N�4� &�� 	��� 	
� ?SM W����;� �� �%��( ��S$� 
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�����  W���
� 3���� �=�' 3�h2 

b�
�!��
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